
Exam 2
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Each problem is worth 15 points Sbow ail your rvork for full credit; numedcal or

graphical estirnates axe una.ceptable uDiess specificaliy requested'

1. Find the follo\i/ing:
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t* air pressure in a tire (mea.ured .n pslr atr"r / rninulcs ol purrnrg rcgiven by
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Find when the rate of pressure increase is specding up and rvhen it is slowilg down.
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f6r sin z and cos r.
rule for csca, and prove this rule usirg the differentiation
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Find the fa.rgent to the graph of /(r) = e, t/i a.t a:3.
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6. Suppose lled detelmines that his average cycling spee<l at a body weight of u
pouds is siven (in mph) by "(tr) : -7!w, 

+ ffu - rY. Find r(16b), ?/(165), and
?"(165). Give units and interpret your answer.
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7. Match the graph of each function in the lelt column with tlie glaph of its deri\arl\''e
in the right column. Give reasons for 5,our clioices thar explain how the slope and
concavity of the original graph cor
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